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O|=(Z4) divorce / AX|ES2172(H)

time plot (birth/death)
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InR

library(TTR) #Smoothing &4 22{27|

fit.yt=SMA(yt.pd,n=7) #Z7|(m)=7 O|SH'H

fit2.yt=SMA(yt.pd,n=28) #Z=7|(m)=28 O|SH
fit3.yt=filter(yt.pd,rep(1/7,7),sides=1) #7f37<|1/7, 7THESER], 1=0|5E+,
2=3H0|SEZ

ds.pd2=data.frame(cbind(yt,fit.yt,fit2.yt))
plot.ts(ds.pd2$yt,main="Time Plot(raw, MA7, MA28)",ylab="power
demand",col="black") #2/G|O|E

lines(ds.pd2%fit.yt,main="Time Plot(raw, MA7, MA28)",ylab="power
demand",col="red", Ilty="dashed") # m=7 MA
lines(ds.pd2%fit2.yt,main="Time Plot(raw, MA7, MA28)",ylab="power
demand",col="blue",lty="dashed") # m=28 MA




library(TTR) #Smoothing &4 22|27

fit.yt.ot=SMA(yt.bt,n=12) #57|(m)=12 0| SEH
fit2.yt.bt=SMA(yt.bt,n=60) #37|(m)=60 O|SZE 7
ds.pv2=data.frame(cbind(yt.bt,fit.yt.bt fit2.yt.bt))
plot.ts(ds.pv2$yt.bt,main="Time Plot(raw, MA12, MAB0)",ylab="power
demand",col="black") #C||0|E{

lines(ds.pv2%$fit.yt.bt,main="Time Plot(raw, MA12, MA60)",ylab="power
demand",col="red" Ity="dashed") # m=12 MA
lines(ds.pv2$fit2.yt.bt,main="Time Plot(raw, MA12,
MAG0)",ylab="power demand",col="blue",lty="dashed") # m=60 MA

et aef7]

ds.pv=read.csv("population_vital.csv") #csv 2/52H|0|E{ R H|0|E{ &i7|
ds.pv0=ds.pv[,-1]

yt.pv=ts(ds.pvO0,frequency=12,start=c(2000,1)) #12& F7|,2000'= 1&
plot.ts(yt.pv,main="time plot",ylab="(person/item)") #X|5, y-SX| 5,

Time Plot(raw, MA12, MAG0)
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